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OPTION-A |
. COM-SEC-4014

( E_Commerce )
the following 1'x 4=4

Papel'

r any four from
pifabr Tes T &

E-Commerce refers 1o
0 T
(@) buying products
HaA @ T

(b) selling services
FE =

() selling products

A fd =
(d) Al of the above

3 FAIENAR

(i) Which segment focuses on consumers
dealing with each other ?
D SR A BT PTG S
e 43 M 2
(a) . C2C
A
(b) B2B

"R
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(c) C2B
(ANG
(d) p2p

s

(@) EI ;
e
tronic Commerce :
and ¢an increase sgle

Costs.  (Fill in the blank)

g TMIerR Rt 3 g N

|
(iv) IP stands for (Wj@??‘fw)

RISEECR g

(@) Internet Protocol

(b) Internet Programming
Gta)| K
(c) Internal Program
RISICHOE s 5
(d) Intra Program

0 2

(v) Internet is owned by

RS TP

(a) Microsoft Corporation

NZFRD AT
(b) Tata play
BIoT (29
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(c) Facebook
(FOI

(c) None of the above
AT (PN 7
(vi) E-payment is doing payment .
(Fill in the blank)
RO TR Wi s i SR |
(0Tl 912 79 3)
(vii) E-marketing provides
DTS ewi e
(a) national coverage
R PO
local Coverage

KCREC o

(b)
(c)

(d)

None of the above

G ey
(vii) <Bopys ;

(Fill in the blank/
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3.

2,

R R1o4 B fer S sy
() Define e-wallet.

RAIw1B9 st foat
(v) What is cryptography ?
fResSrard fs2
(Vi) What is phishing ?

Refk Ry

Write short notes on : (any two)  5x2=10

SY Brat Bt ¢ (Rt )

() E-commerce revenue model

S ez T
(i) Basic structure of a HTML page

Bt G25TBaNG I e e
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(ifi)

(iv)

v)

Technology used in e-commerce
23S IR 2R

Online banking

SET @fER

IT Act, 2000

WIS @3, 2000

(vi) Cryptography

Answer any three -

ﬁmmf%ﬁmﬁmﬁan:

1)

(t)

(i)
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[Kai o

10x3=30

l?eﬁne lists: Explain different types of
lists useq jp HTML with one simple
example, 2+8=10

Wﬁmmmfﬁmmw%mqam
m&‘&ﬁﬁmm—tsm R e wiferer aefi
|

Writ, :
200 g. the salient features of the IT Act,

200034 e e,

hat ; .

diff::e:li Onhne. shopping ? Explain
hoppi Steps Involved jp the online
Sf0pping Process.

2+8=10
6

' . nic Payment syg;
Describe different methods of et

el 1
Payment system'. ;itggrlllg
X s AN Ree orahies AR
, g
AT RiSR steafs qofy =

V) Write about different factors involved i
€-commerce website design.

V) Write about different steps and

techniques for promoting gp
€-commerce website.

i‘wﬁm@i“u‘aﬁamm%mw
B (T [F30T Bt

(vii) Describe e-commerce security threats,

3oy e O 39 1|

(Vi) Describe the major e-commerce
business models.

I3 236 PR TGS 301 341 |
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OPTION-B . (v) For submitting Form 15G, the apphcants
must be below 60 years of age.
~ Paper : COM-SEC-4024 1 " F
| . orm 15G & I9I¥ IR MR I35
(E-Filing of Returns) | " 60 IFT OFT T APA|
1. Say whether the following statements are (vi) IGST is collected by State Government.
True or False : (any four) 1x4=4 GRS GST 0T 57 RATIA |
v it RIS 97 @ wow CPrt 8 (R (vii) GST signifies one state many tax. -
51f3517) | | GST (& G W RW PRI
,(i) E-Filing is mandatory for a company. (viiij) The burden of GST is borne by the
<51 (=TS 3N E-Filing AGorEs & | | - consumet.
(i) Filing of ITR is compulsory if a tax payer GST3H @T@TT GolrereR I I _‘
has deposﬂ:ed an amount of Rs. 1 crore :
or more in one or more than one current 2. Answer any threeof the followmg questions :
account. 2x3=6
T G ORI <t A Srelfts @R R e Rt RAHITO8 313
el TS & o wetw e i | () WhatisITRV?
» COETHES ITR MR I AT |
= ' - ITR-V &2 |
(iii) A person can hold at least two PAN (b) What is digital signature certificate
| (DSC) ? |
GO I S FAS 75 PAN IR7 A | , certi psc) e
(iv) Asse Digital signature certificate ’
Ssment year is always a period of by total income ?
12 months. () What doyou mean by 10
Rt 7w 12 Tz o o 3 R
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(d) Explain briefly about TAN. () Explain the structure of PAN.

TAN 3 R otz i <=1 | | PAN 3 5157 311t 1t 1|

(e) What do you mean by Form 16A ? (d) Who are responsible for deducting tax

16A 2 Jferes B g@ie . at source ?
' T
() Write short note on ITR-1. SIS T PET T AT PR ¢e ol =t
: e
ITR-1 3673 53 GGt foral | ‘
(e) Write a short note on GSTR-1.
3. Answer the following questions - (any two) _ GSTR-1 7 895% 53 (BrAI faalt |

5x2=10 () Write the names of any five specified

TR TR vt 2 Rzt ¥51) financial transactions in which quoting

‘ f PAN is mandatory.
(a) State any ﬁve diff n 0
. €rences betwee . TR TS
Ng and manua] filing of returns. Rt
PAN Tz 31061 IO |
E-filing IR 2951Rr 9 8{fogarm e <4
TS <1 Rt #Het siefay v % Answer the following questions : (any three)
' i 10x3=30
) Mention anyY five disadvantages of
Manual filing of returns, oo PR e o7 2 (R fofam)
wﬁmﬁ; : N1 PR AR AP | (5) My, Raghab Baruah, aged 45 Y; .
hall employed in a public sector CO P
Contd.
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L.

During the previous year 2021-22, he
received a basic salary of ¥1,00,000 p.m,
dearness allowance 50% of basic salary,
house rent allowance ¥40,000 p.m. and
special allowance of ¥10,000 p.m.
Mr. Baruah resides in a rented house at
Guwahati and the rent paid by him is
30,000 p.m. He maintains a savings
bank account with HDFC Bank and
during the previous year 2021-22,
%40,000 was credited in his bank

account as interest.

During the previous year, he had paid
60,000 as life insurance premium and

X25,000 as medical insurance premium
through net banking,

Compute his tax liability if Mr, Baruah
Oopts for old regime,

4 Bem-4/CBCS) S 12 BCOMBIRYG 1
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SN TR 394, T 45 e S <t e
DI TR 1 2021-22 elREle 7 (eriTe
I 7 &S MR 1,00,000 5, 5T 6
I VIR 50%, ¥ ©I%! ©IGT 40,000 50t fS
T A= [T ©IGI T 10,000 Tt =it | Qi
93T @IYGIT B! STt TF© % [T W oS
ez 30,000 51 ISt AR T | (TS
HDFC @& 96 7%7 251 Siitg 19 @Rl
ARSI I 2021-22 © &S IRT 40,000 5t
ol 2 |

(STaTs S T Bf% 60,000 5 &% fofdea
SRR 25,000 51 (75 e @it sHfveite
| |

o[3fA 3 T ORI S T 9 T
sifIme i 4|

(b) Write a note on various provisions of the

new tax regime.

g A T R #R <8 PR
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(c)

(d)

(e)

(g)

Explain various types of TDS certificates |

along with their applicability and related
provisions.

RfSTTDS certificates IR TE SR AN

W TR i1 STl Rz 61
=

Explain the contents of Form 16.

Form 16 3 3PPzt 2

Explain various ways of verification of
ITR submitted by an assessee.

ITRWW%W%Waﬁwl

E.xplain various ITR forms used by
different types of assessees,

%WWW%ITR GETUDed

E-filing & .
kol

 Bem-4/CBCY SEC 12 Boomermy; 14

(h) Write various steps of computation of
total income. :

o ow fRdfaet v Rftw sz o

Ll

iy ﬁlihga SIRBY R4 e Eﬁm.
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